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DAmﬁnswnai Ana?ysas

-d used to make unit conversmnj

Example:
Mount Everest, the tallest

mountain on the Earth, is
29,028 ft high. What is
its height in miles?

How can we solve this?
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logt's o0lve Our Problegm

Mount Everest, the tallest mountain on the

earth, is 29,028 ft high. What is its height
in miles?

—————
——————————
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The new Samsung SmartiWatcCh is 4.28 Cm in
width.

What is that width in inches?

The Costa Concordia is a ship
wrecked Off the Coast Of Jtaly.
It weighs 54,000 tons. How
many pounds is that weight?

Nov 4-8:56 PM
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TO convert uhits, multiply by a conhversion £aCtor)

(example 1)

problem: 4.18cm = inches

conversion factor:  1cm = 0.39inches

0. 39m

lem

works 4.18cme ——

answLrs

Nov 3-7:04 PM
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Notice the same conversion faCtor is used.

(example 2)

problrm: T6inches = cm

conversion factor: lcm = O.39in0heS

lem
76in @ ———
ot 039in

answgrs

Nov 4-9:45 PM
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Practice these using the givenh conversion f£aCtors.

2. $325 = euros ; 1 dollar = 0.63 euros

3. Convert 1250 cm to meters; 100 cm = Im

4. 2.5cups=__ oz. 8oz=lcup

Sep 6-11:01 AM
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Complete Practice Problems o
your handout!!

Classwork / HW

You must show work!

Nov 4-8:35 AM
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